OS 120 SAB

A M6 x 45 Oval 1
head, short neck

B M6 x 30 Oval 1
head, short neck

C M6 x 12 Oval 2
head, short neck

D M8 x 45 Oval 2
head, short neck

E M8 x 16 Combi 6

F M8 x 16 sext 8

G M4 x 18 Combi 1

H M6 nut 4

| M8 nut 20

J M8 washer 8

K 30x20 Terminal 1

N N\

BFie

maximal

V0211n15

1/2






